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a’-b’=(a-b)(a-+b);
a’-b’=(a-b)(a’+ab+b’);
a’+b’=(a+b)(a’-ab+b°);
a’+2ab+b°=(a+b)’;
a’-2ab+b’=(a-b)-.
3anomnume: (b-a)’ = (a+b)?
(-a-b)’ = (a+b)’
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YTBepxaeHue

x*—9 = (x+ 3)(x— 3)

a’>-8=(a+2)(a’*—2a+4)

x2 —2xy+ y? =(x—y)?

(d+2)°=d*+2d+4

6pq— 18 p=6p (q—3)
12 x +x?=x (12 +x)

27+ 2 =3 +t)(9-6t+12)

CBoW BapuaHT

a’-8=(a-2)(a®+2a+4)

(d+2)°=d*+4d+4

27+ =B +1)(9-3t+t)




MatemaTuk
(*7C7 — 1723rr.)
Poaouncs
15 anpensa 1707 ropa
3 WasendapCkom roguae
MarucTp8aeKyCCTB
B cembe CBSILLLEeHHUKA.
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Co3aaHve TnNVNoB
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Bbl Y3HACTC, CCJIN IIPABHUJIBHO BBLIIIOJIHUTC 3a/IdAHHUC.

Ne n/n Pasnoxurte OTBet bykBa
Ha MHOXUTEJIN
1. |32x —8a 8(4x-a)
2. |4x* +36x° 4x? (1+ 9x)
3. |15c(a+b) + 8(a+b) (a+b)(15c + 8)
4. |4ac+4ad - b(c + d) (c + d)(4a - b)
5. |ax—3x+4a-12 (a— 3)(x + 4)
4x2 (1+9x) | (a— 3)(x + 4) | 23c(a+b) | (c+d)(4a—b) | 8(4x—a) | (a+b)(15c+8) | 24(x-a)
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a’ — 27 _ ;
@2Z+3a+9 °
x2 —4x+4
= x—2

X —2
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COKpaLLEHHOro
YMHOXEHNA?

Ymetro nu 4
NPUMEHATb UX NPU
COKpaLLeHUU
anrebpanyeckmnx
apoben?

Cwmory nu s
COKpawaTtb apoou

CaMOCTOATEeNbLHO?

HeT

3aTpyAaHACb




IR



